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Grammar
Adj -> yummy
NP -> foods
NP -> store
NP ->  NP NP
NP ->  Adj NP

1:2

1:3

Adj NP NP

2

For cell [i,j]  (loop through them bottom-up)
    For possible splitpoint k=(i+1)..(j-1):
        For every B in [i,k] and C in [k,j],
            If exists rule A -> B C,
                add  A to cell [i,j]    (Recognizer)
                ... or ...
                 

yummy foods store

Recognizer:  per span, record list of 
possible nonterminals

Parser:  per span, record 
possible ways the 
nonterminal was 
constructed.add (A,B,C,  k) to cell [i,j]  (Parser)
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Visualizing Probabilistic CKY

1 2 3 n

How do we fill in C(1,2)?

For cell [i,j]
    For possible splitpoint k=(i+1)..(j-1):
        For every B in [i,k] and C in [k,j],
            If exists rule A -> B C,
                add  A to cell [i,j] Computational 

Complexity ?
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